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@ x? + 4y? 4+ 922 — 4xy + 12yz — 62x

@ x? —4xy +4y® — 972 + 12y7 — 62x
@x2 — (4y + 62)x + 4y? + 12yz + 97>

@ 4y* +12yz + 922 + (—4y — 6z)x + x2

® 922 +4y? + 12

(x =2y —3z2)? = x? — (4y + 62)x + 4y* + 12yz + 92°
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@® m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab+ b?
@)(a-b)a+b)=a?-p?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b? = (a+b)? - 2ab
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1999 x 2001 = (2000 — 1) x (2000 + 1)
= 20002 — 12
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f(x) = (2% +3x +2)(3x —4) + (2x + 5)
= 62>+ 922+ 6x—8x2 - 12x -8+ 2x+5
=6x34+x2-4x-3

L f)=6+1-4-3=0

f(x) = (2x +3x+2)(3x —4) + (2x + 5)
F1) = (243+2)(3-4)+(2+5) =~T+7=0
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® 6470

{(2a — 3b)3(2a + 3b)3}*

= {(4a® - 9b)3)*

= (4a® — 9b?)12

" (40 - 9b?)12 9] O] A= 13 7 0]t
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8. X+ +2E 0 A2+ 2x- 12 YRS 19 %S o(x) UHAE
R(x)2F & o, O(x) + R(x) 2] 3t2?

® 2x-3 @ 2x @ 3x+2
@4x ® 4x+1

B+ +2E P+ -1 Y UFd
O(x)=x-1, R(x) =3x+1
Q)+ R(x) = 4x
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4(a+b+c)=20,a+b+c=5

Va2 +b2+2=3,a>+b>+c2=9

(B4 ol) = 2(ab + bc + ca)
=(a+b+c)?-(a®+b*+2)
= 25-9 = 16(m?)
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ala+1) =194

a>=-a+1

a4:(—a+1)2:a2—2a+1
=(-a+1)-2a+1=-3a+2

a’ =a*xa® = (-3a+2)(-a+1)

=-8a+5
at-a®> -3a+2-(-a+1)
ab-1 —8a+5

-1
~2a+1 = -2a+1

4

I&+4_4p%+n

=3a®-5a+2=3(-a+1)-5a+2




